


[image: ]Para las siguientes notaciones logarítmicas encontrar x para cada caso:
1) [image: ecuación]
a) 3		b) 2		c)1/3		d) 3/2		e) 2/3

2)  [image: ecuación]
a) -4		b) -3/27		c)3/4		d) -3/4		e) 4/3

3)  [image: ecuación]

a) ±2		b) ±1/3		c)2		d) 2!		e) √2

4)  [image: ecuación]
a) 5		b) 8		c) 11		d) 16		e) 19

5)  [image: ecuación]
a) 7 y -1		b) -6 y -1		c) 7 y 1	d) 1/7		e) ±6


6)  [image: ecuación]
a) 9/4		b) 3		c) 4		d) ±9		e) 3/4

7)  [image: ecuación]
[bookmark: _GoBack]a) 5		b) 8		c)3/5		d) 3		e) Ninguna de las anteriores

	Pregunta
	Respuesta

	1)
	D)

	2)
	D)

	3)
	A)

	4)
	D)

	5)
	A)

	6)
	B)

	7)
	D)
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